FTEEEBE  S=1:500

HENATIE  BUKEEH HIVP-RRp75) L=49.5m (HIVP-RR¢65) L=108.0m X/KEFE#F (HIVP-RR¢ 100) L=2.5m

THEITRZ T (RBW@t=5cm) A=144m

R o lB S REE
FK oI
TAY—ERtY

REEMERX (A-A" Wrm)  S=FREE

4500

| 300 300 300 |
et

—T
mEl

BEITMAT (RBOQZEMET7AIVISFHHRE T H) t=5cm

IR TERFARERY REKERHIE
X 4 SETER - RERER
EREFRA

#ER EdpR HEZ 1/2
BEEA AT EERFMEERR




300

JHE /A T #E R (300 % 300)

BEfHR S= 30
F om
5500
55 120 180275=4950 120 | 55
0d 0
+ T
~ | | | | =2
| - | | | | 2
=4 om ‘r ‘r i 1 1 L T T T 1 1 1 14 1 go
" S ) =] 2o T — — — = T = —— —— = I e S
- EETTT ﬁ}ﬂiﬁj’ibul S:115 I i i I I } I I I I I } I  —— g
300 [30-12-25(20) (R3) W/C<55%] | i | | i gl
= @010 @D10
47.5 100, 47.[5
[
72.‘5 52.5 ® bio ) L Bih#f t=10mm
w \ \ N @D1o
= T HI-VP ¢50~ ¢ 125 y_zaﬁﬂ/
v A7 . Al
o % }\/ sa || Is0 Bl B X
8 \J ® D10
] ‘ 5500
s 55 120 180275=4950 120 55
hol 170 o 175 | /X ME" ¥ (1380) | JX ME" 9F (1380) | /X ME" ¥ (1380) |
'66 66
D10
! ! ! !
1 i 1 1 1
[ [ [ [
= — | — — — = — = — — — — —
I I I I
: : : :
| | | |
3D10 @D13
ITREia o) — N EHER
5. 5m4 1) Bih#f t=10mm
ABRE —50A | AMTED—65A | AMFE—75A | AMFTE—100A| ABTE —125A & = -
2RI A 0.09 0.09 0.09 0.09 0.09 h x W m2
/4 THEH B 0.0028 0. 0045 0.0062 0.0102 0.0154 7d?/4 m2 . N R A
EWEE C 0.0872 0. 0855 0.0838 0.0798 0.0746 A—B m2 X/ X)I’t \y?—li‘ #&7k%®iﬁﬁl“ﬁﬁﬁ°
avyY—rMMEE D 0.480 0.470 0. 461 0.439 0.410 C x5.50 m3
%55. Om4 1) 4.80 4.70 4.61 4.39 4.10 D x10 m3
X B Hht 108/F x 0. 09m2=0. 9m2  t=10mm
MR AEAR 0.30 x 55. Om=16. 5m2
XENSS. OmE Y HEEH KT,
&% B O®
5.5m L
o . 5 £ < Hiugs B =
S| BB xX (mm) (ke/m) (ke)
@ D10 4 5,390 0.560 12.074
)] D13 4 5,390 0.995 21.452 IHE HERFAREE Y RBKEEHLTE
©)] D10 23 775 0.560 9.982
@ D10 23 235 0.560 3.027 RES | JHF/ A TEILEER (300 x 300)
%55.0m% Y D10=250. 83kg D13=214. 52kg ERER B
w R [2ES HEE 2/2
i
== BT EREFMERR




